FE7EZREES CH< (ESCA) EAKBKkFRERE Page 1

ZS’—I*'JZF

wipNo.: 9 ZF  50m NE2TSA

4 2= 71| (h32) KRR
K& mnEE Z8No. K4 AIHS @4 BE IVM-54L
148
1T B B 344 kA EIK 4 1 7x‘+ﬂzm N3 50. 10
2 B IE 296 XIr #0& T35 Y4t /\'I%,,\ N3 48.73
3 E OB 530 IR ®wE N TYh o I el T«r I3 46.93
4 T OB 372 HAE #BA¥ k74 17 <3 RSCRE N3 46. 46
5 = 1B 642 EDUVLT= 75FA" £14 LEHASC N2 46. 60
6 B 2 242 Z—® ftE )3 hY TJrA4TTY N3 47. 81
1T B B 241 #N %EiE wyhT 33 I274TTFY N3 49.01
8 = I 599 HE NE Y3 /7 7498137 N2 53.00
2%8
1T B g 135 FERE et 7Y° 93 H/h IYI-JSRT N 46. 00
2 B B 601 2| = hay A3 7498I37W N2 44.00
3 B IE 484 o HE kIR Thi TEh ) —&N 7|V 43.00
4 T 4E 368 BRIE =R 7975 741 <3 FSCWE IND 40.73
5 = 1B 429 T™ME EE /3 3 PR L NI N3 42.00
6 = IE 596 FE HXx N/ oaf 7498137 VY 44.00
1T B B 110 EH (= 4 =Fh EmiEDC N3 45.00
8 B 2 136 @A Fit e 40n IYI-JSRT N2 46. 00
3%
1T B B 477 EEE HhE Eah 9 127+ ) —&HA &2 39. 00
2 B 2 " FE BE {2 40N EmiEDC N3 38.00
3 B B 550 EiE BB D8FAT b Ryuow NG 37. 11
4 = IE 187 HF Ek 17 3 HPRER =] 35. 66
5 & IE 549 tH A [ Ryuow =a] 36. 14
6 B 2 294 [EAX £T ek 17 J\IBES N 37.99
1T B IE 552 WK X YWEN 14T Ryuow b 38.36
8 E B 30 K¥ =¥ 47 474 T4V AHEE 1M 40.19
4%8
1T B iE 618 FHO {hHE 199" F 1f B&GEF ING 35.08
2 B OB 64 EJ YT 8949 17 AHASC NG 34. 80
3 B OB 609 #HEX FE YR FHY Jq J’)"JII/I =) 34.60
4 B IF 279  IN\NTH BB 1zy I J\IBES =) 33.44
5 B IE 547 /A EiH #hEh 087 Ryuow =a] 33.51
6 =T IE 156 BH = byby 319 fHEsScC N6 34.70
1T B B 586 LA Eik Wy Tt T493I37) 12 34.84
8 = I 104 Mz EHE A4h 4 MiEDC 16 35.50
5%8
1 E 386 {EE KT 9 bR RRSC =2 33.00
2 B OIE 545 WK Ff IWEN By Ryuow 2 32.22
3 B B 541 WK WK IWEN Ryuow =1 31.70
4 B IE 152  ZEpEAE 7AT EY) FmEScC =) 31.60
5 B 2 523 B =T ™+ 4/ O3a2=F4 =) 31.64
6 FT IE 62 LtH =z 918 )Yy ABHAKSC N 31.80
1T B B 4271 EHHB FEE 38 F7% PR L NI N 32.61
8§ B IE 620 BT £ I 32 MESSA 2 33.39
648
1T IE 418 FiE-FE2) Ut T4 74 v 16 30.90
2 B OB 332 %iﬂ; YL ¥ ) 7 XYL =2 29. 68
3 B OB 517 st =i +hh3 33 O3a= 74 th2 29.15
4 B OIE 270 FH %E= £35 314 J\IBES =2 27.17
5 = 1B 276 A@EIKE thth 749 /\rpé,;isc #3 28. 83
6 = IE 591  #BH = 2 MY 74951370 /N6 29.57
1T 2 B 512 XK =T Hyh 3t a3a=F« =2 29. 84
8 = IE 513 Eif #3& ¥ vt QAZa=T4 =1 31.15

2018/09/09 10:56:05 SEIKO Swimming Results System



